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1. (a) How does systematic risk differs from
unsystematic risk? Briefly discuss the role of Beta.

(8)

(b) The return on securities A and B under different
securities are given below :—

Probability Security A | Security B
0.20 25 % 15 %
0.35 18 % 18 %
0.45 22 % 24 %

Calculate risk and return associated with securities.

(10)
Or

(a) What do you mean by market participant? How
these participants can influence the market.

(8)
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(b) In a portfolio of the company, Rs. 4,00,000 have

been invested in Asset X which has an expected
return of 7.5%, Rs. 5,60,000 in Asset Y which
has an expected return of 9.2% and Rs. 6,40,000
in Asset Z which has an expected return of 12%.

What is an expected return of the portfolio?

(10)
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2. (a) What is Dow Theory on stocks? Stock market

-moves in how many trends, discuss briefly?
(8)

(b) The Balance-Sheet of PQR Ltd. For the year
ended 31.03.2023 is given below -

Liabilities:

(a) Equity Share Capital 4,00,000
(b) Preference Share Capital 2,00,000
(¢) General reserve 2,00,000
(d) Secured Loans 3,00,000
(e) Sundry Creditors 1,00,000

Tota] 12,00,000
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Assets:

(a) Land and Building 3,00,000
(b) Machinery 2,00,000
(¢) Furniture | 50,000
(d) Inventory 2,00,000
(e) Sundry Debtors 4,00,000
(f) Cash/Bank Balances 50,000
Total

12,00,000

Calculate the following ratios from the given
Balance Sheet :

(1) Current Ratio
(i) Debt-Equity Ratio
(iif) Capital Gearing Ratio (10)

Or

(a) Discuss the weakness and shortcomings of

technical analysis in detail. Also briefly discuss
hypothesis. (8)

P.T.O.
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(b) A firm paid a dividend of Rs. 8 per share and
the face value is Rs. 10. The dividend is expected
to grow at 5% per annum. The company belongs
to a risk group for which equity capitalization is
12%.

(i) What is the intrinsic value of the share?

(ii) Would the value be different if the risk
class was 15%? (10)

() IR ¥ et == Rea @ 2?7 IR IR feewr
A A IOl 8, G899 ¥ =R0 it ?

(@) PQR Ltd &t S e 3103.2023 & & a9 & forg

= a T e

T :

(%) sREd IR gEl 4,00,000
(@) aftmr IR gon 200,000
(7) wm s 2,00,000
(a) wfe@ =w 3,00,000
(¥) fafy R 1,00,000
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(®) St o v 3,00,000
(@) Wi 2 00,000
(W) WK 50,000
() ==Q 2 00,000
(z) TRy <wer 4,00,000
(=) e A R | 50,000
&Rt | 12,00,000
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(a) What is portfolio? How portfolio diversification

helps in reducing the market risk. Elaborate.

(8)

(b) A Rs. 1,000, 12% bond is available at a price of

Rs. 800 in the market. The bond is redeemable at

t is payable annually.

s bond if his required

par after 10 years. Interes
Should an investor buy thi
(10)

rate of return is 14%”?
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Or

(a) What do you understand by intrinsic value of the

share, how it is determined in investing and

business? (8)

(®) A bond with a face value of R, 1,000 promises
to pay 8% interest annually and the current bond
price is Rs 1,140 and time to maturity is 10 years.

Find out: (i) What is bond Yield at current price?

and (ii) Yield To Maturity (YTM). (10)
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4. (a) Differentiate -between discounted cash flow and

cash flow with a suitable example. (8)

(b) A company has paid dividend of Rs. 1 per share
of face value of Rs. 10 each last year and it is
expected to grow @ 10% next year. Calculate

cost of equity (Ke) if the market price of share is

Rs. 55. ' (10)

Or
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(a) What do you understand by Cost of Equity (K,)
and Cost of Capital (K )? (8)

(b) The following is the profit and loss account of

Yamuna Limited :

—

Earticulars \ Amount(X) 1
E)__“ Revenue from Operations { 10,00,000

(ii) ‘1‘ Expenses:

u[ Cost of Materials Consumed 50,000
WLPurchase of Stock-in-trade 5,00,000

\ “ Other Expenses 3,00,000

Dl‘ Total Expenses j 8,50,000
M{Proﬁt before Tax (i — ii) 1,50,000

Additional information :

(i) Trade receivables decrease by 30,000
during the year.

(ii) Prepaid expenses increase by 5,000 during
the year.

(iii) Trade payables increase by 15,000 during
 the year.

P.T.O.
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(iv) Outstanding expenses payable increased by

33,000 during the year.

(v) Other expenses included depreciation of

325,000.

Compute net cash from operations for the year
ended March 31, 2017, by the indirect method.
(10)
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5. (a) What is dividend discount Model? How price

pattern can be helpful for investor. Explain.

(8)

(b) The following are the expected return, R, and risk,

o, of two securities A and B:

R c
A 15% 15%
B 12% 20%

The correlation coefficient between the returns of
A and B is 0.8. An investor is to decide about fhe
portfolio of A and B as 75%+25% or 25%+75%.
Which one should he accept? (10)

Or
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writc short notes on any three out of the following :
(6x3=18)
(i) Discounted Cash Flow

(ii) Factors determining Value

(iii) Hedging

(iv) Efficient Market Hypothesis (EMH)
(v) Elliott Wave theory

(=) T T Aied w0 27 T et Faww @ R B
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A 15% 15%
B 12% 20%

A 3R B B Rt & = Wedsy TH 08 T T
fame 9 A 3k B & QCwHI@ & I A 75%+
25%TT 25%+75% & T F ORI 1 31 IH A
AR T ARG ?

P.T.O.



810 £e
3tedi
refoRae ¥ ¥ el O W uRra Rerdh R
(i) Ramtt Fhal wars
(i) g FuiRa &= 9 &R

(i) =T

(iv) o« IR IR (3099 )

(v) shme 3 R



